Proudové pole

Elektrický proud                              I=Q/t                           I=U/R 

Elektrické napětí                              U=A/t                          U=R*I 

Hustota proudového pole                             J=I/s 

Intenzita proudového pole                            E=U/l 

Ohmův zákon                                                R=U/I

1.Kirchhoffův zákon                                     ΣIk=0 

2.Kirchhoffův zákon                                     ΣUk=0 

Theveninova věta

                                        Uz=[Rz/(R1+R2)]*U-[R1*R2/(R1+R2)]*Iz                                                       Uz=U0-Ri*Iz    =>     Uz=[Rz/(Ri+Rz)]*U0 

Nortonova věta                                                  Uz=Ri*(I0-Iz) 

